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Outline of possible answers to the Midterm exam
1. Successful cities require numerous features to sustain their success.  These include a skilled workforce able to adapt to change, an openness to trade, a not over-burdensome public sector which delivers good public services at a decent tax price, and physical or environmental amenities. One approach to answering this question would cite Florida’s three “Ts”: talent, technology, and tolerance.
2. a.
An economic cluster is defined as a geographically concentrated group of interconnected companies and associated institutions.  These arise from agglomeration economies across firms.
b. To compare the isolated site with the clustered site, calculate costs, revenues and profits in bad times and good times and average the two, given that they are equally likely.

Bad Times
	Location
	# of Workers
	Cost
	Output
	Revenue
	Profit

	Isolated
	5
	$150
	40 units
	$200
	$50

	Cluster
	2
	$90
	19 units
	$95
	$5








Good Times
	Location
	# of Workers
	Cost
	Output
	Revenue
	Profit

	Isolated
	5
	$300
	40 units
	$400
	$100

	Cluster
	6
	$270
	45 units
	$450
	$180


For the isolated site the expected profit, the average of the two scenarios, is $75.  For the cluster site, expected profit is $92.50. Clearly, the clustered site is more attractive.  One could also use graphical analysis to indicate how producer surpluses would differ between the two sites.
3. The graphics on page 64 of O’Sullivan (6th edition) clearly show that we can have small cities, medium sized cities and large cities.  Small cities arise from locations that can accommodate production with modest scale economies, and medium sized cities feature locations with large scale economies.  The largest cities featured a diversified economy with positive urbanization spillovers.  Workers move until their utility cannot be increased by further movement.  Maximum utility for each location occurs at the point where, at the margin, local agglomeration benefits equal diseconomies of scale resulting from external factors such as congestion and pollution.  Each of the five axioms plays some role in this determination.
a. Prices adjust as workers and firms respond to the market place.

b. Clusters of economic activity develop from self-reinforcing effects.

c. Externalities influence utility levels and therefore migration across cities.

d. Scale economies exist at various levels and give rise to concentrations of various sizes.
e. Firms move to locations that generate economic profits until such profits are competed away.

4.
a.
A pollution tax on polluting firms reduces the demand for labor in a particular city.  This will lead to reduced employment and wages.  If the elasticity of labor supply with respect to environmental quality is large enough, the labor supply curve will shift to the right sufficient to counter the reduced employment. It might even raise employment.  If the wage is elasticity of labor demand for non-polluting firms is high enough, then the drop in urban wages will lead these firms to increase their hiring; as a result, the drop in wages would be relatively small, and employment might actually rise with the pollution tax.


b.
Restrictions on firms regarding plant or office closing reduce the potential profitability of location in a given city.  Consequently, the demand for labor would fall (certainly over time.)  This would yield reduced wages and employment.
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6. This question requires examination of total delivered cost across various distances.
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a.
If initially, the market area is given by the distance between I and II and if the small refrigerator is an imperfect substitute for the factory such that it is worthwhile to have a refrigerator if you are not close to the factory, then the market will shrink to the distance between X and Y.  Note: under the assumptions above, it would not be worth having a refrigerator at cites B and C.  If small refrigerators are cheap and perfect substitutes for ice production, then the factory would cease to exist.
b.
Since factory output will be lower, fewer laborers will be needed; thus, population will fall in the factory city.

7. a.
Breweries locate near their markets because production is a weight-gaining activity; thus, it is more expensive to distribute output than to procure inputs.  Wine production is a weight losing activity; thus it is more expensive to locate near the need resource (the vineyard) than near the market.  The below graph would apply to brewers.  
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Technology has made distribution and procurement costs a lot lower so they no longer dictate where it makes sense to locate.  Local breweries, in terms of aggregate beer production, have a very low market share.  Wineries seem to exist in numerous places, even in Wisconsin not known for the quality of its grapes.
b. Eventhough ship building is a weight-losing activity, location at a port reduces a variety of costs including testing of the ship, transport of the final product, and other input costs.  Firms interested in water-related activities will locate near the port and take advantage of the cluster of economic activity related to shipping.
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